(RELRKRLSE)

(218H=%E18) SH2EE
FERH6A19A (%8 68 198 #E7818
#ERIH18 BT mg/l
=BK #TFAK) HTK(2)
HEOXR HEOHEHA ||GHE0HER HEDKRE
1|ARSH L 0.0017 0.0003 ki 0.0003 ki
2127 BHEET x1 [[BEET *x1 ||BHET *1
3|%n 0.002 mg.”| 0.001 mg.”| 0.001 ki
pax(iifzd=FN 0.005 X 0.005 Xkt 0.005 X
5|t 0.001 mg./| 0.002 mg./| 0.008 mg./|
6|#aK R 0.0005 Xk;# 0.0005 *k;i 0.0005 Xk;#
7|7 JLFILKER BRHET *x2 [([BHET *x2 [BEET *2
8|PCB BHEET *x2 |([BEET *x2 [[BEET *2
1 PZI==EL D 0.002 X 0.002 Xkt 0.002 X
10|miElbirE 0.0002 X 0.0002 ki 0.0002 X
1{poozFL> 0.0002 Xi 0.0002 ki 0.0002 X
12[1. 2—<Honx sy 0.0004 X 0.0004 ki 0.0004 X
13[1. 1—o4HonxzFLy 0.01 K& 0.01 X 0.01 Xk
14[1. 2—CHonxzFLY 0.004 Xk 0.004 Xkt 0.004 Xk
15(1. 1. 1—kyyoox4iy 0.1 R 0.1 X 0.1 R
16]1. 1. 2—k)o0O0OxTARY 0.0006 ki 0.0006 ki 0.0006 ki
17|k FLY 0.001 k& 0.001 ki 0.001 k&
18|FrS4y0oxFL Y 0.001 k& 0.001 ki 0.001 k&
19[1. 3—yo/on7JaRy 0.0002 Xi 0.0002 ki 0.0002 X
20| F 95 L 0.0006 Xk 0.0006 *k;i 0.0006 Xk
21| oV 0.0003 Xki# 0.0003 Xk;is 0.0003 Xk;#
2| FAN AT 0.002 X 0.002 ki 0.002 X
23Rt 0.001 ki 0.001 ki 0.001 X
24| LY 0.001 ki 0.001 ki 0.001 X
25|1. 4—SAFHY 0.005 ki 0.005 i 0.005 ki
eSS

BRHEET *1&1E, 0.1mg/IRFELD
BHEHET *2&1%. 0.0005mg/IKEELD
~KBElE, EETRRBDELZVDVET




